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— 897 A - 974 A. 500 °17..A. -543.98 A.
G
U. 6748 A. A. 2732 A. 250 “1.A. . 794. 82 A.
— 897 A -974 A, 500 °17.A. -543.98 A.
5851 A. 1757 A. 750 21..A. 250.84 A.
1. egud::
U. 7263 A. A. 2330 A. 150 “1.A. d. 3740. 27 A.

-974 A, -7942 A, 850 “.A. -1359.53 A.
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aren::

U. 348,164 A A. 169 A. 850 “1.A. . 876.50 A
— 78,999 A, -94 A, 750 “1..A. —288.75 A,

AL NC72A AN o-0m- 105 A, HeA: hH Ade:: SO0 NC72A 39 A, 121
AT oA A AT NCZ2A e He-: 17720 2 No7?

h& A74% 00 Are 150 A7 750 “7.4.7 00 A em-:: QAN £77 75 A7 500 .07
00 Gem:: Al: A7% 00 Al DALA oo9A-I; Him 00 N7LL AR?

76 A, A9°0 91 H-AhH (1C?2A 20.5 A, A7 1 F%AGTA AL NTCE N7L2.L L0Mm-7?

4923t thHt PPmEAC

17T 14

1.

Achao @ 200 7.4, N'HhH ANCsHES 00 ATE:: T0é7 £ CO6 AFC AIHAN
NCerr$ 00 AFP:: AlHch 00 HATP av) RL?

AAG-TI; 3.5 A He-: ANA% 94.9:: 0042 £77 3 A7 400 “7.0.°7 H &I (IA% 4%
TL o liT Nl SOHMR?

> < me g0 = YOTPI0 4MELL::

v. 10 A 15 A, A. 10 AL 1000 21.A.

. 2 A 750 ?7.A. 3 A, ao, 123 A 12.25 A

GJdh

v. 10 A, 15 A, > hL 27T AYL NAHALI® 11-9°
ROCI T Ploch PPO-L8C RN AR::

981t AL P°APP NFA Af::
10 A. = 10 x 1000 “7..A. = 10,000 “1%..A.
10,000 “7.A. > 1000 “1.A.
h 2 A 750 A <l 34 F TN AL GeYT A1 &G LC
2,750 7.4, < 3000 “7.A.
av. 123 A, 12.95 A, > 719° ROCIH T Pé-ch 0L 8C




94 muahb 199948 61198 hea,

1. > < me 20 = IJOTFI0 4M8LL::

0. %IL 500 “7.0. A. %n. 250 @A,
4. 5 A 600 “7.4. oo, 1885 A. 188000 “7.A.
4. 10 A, 10000 “7.a. A, 950 “.a, 1 a,

2. hPaed® Al N1TEA0NE APST DA M TP Lh ovQPd L.GCE ATC L9° ALN:
Y2751 €7 Al N1TE.AAE APST AaN-T <M 4CAO6 AC L£9° ALA::

V. Ak 9° HAM avF AR?

A. Al o7 NAEAYS HANP ooy £I° HA® AL.AAL NTLL AR
3. il Hyan N9o8oYC N°PLYD A%l 4FI0m:

v. 195 A: 190 A: 200,000 7.4,

A. 1000 A;: 999,000 “7.A: 999.9 A

d. 275 A, 900 “7.A: 274 A 275.8 A

oo, 100 @CE AFC: 100 CO6 AFCE 45 A,




